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GCSE YR10 FORCES PART 1
(Home Learning Questions and Answers Booklet)



		Instructions: 
1. Watch all video clips on Educake homework titled: Forces In Action Part 1. Before attempting to answer GCSE practice questions on this booklet.   
2. You must attempt all practice questions in this booklet before looking at the answers. 
3. Watch video clips on forces, make notes and complete all set task on Educake and Easy-Education.
4. Watch out for Forces Part 2 titled: Forces In Motion – I will be focusing on Newton’s Laws of Motion.
5. 

I.Ukiwah
Physics teacher/Head of Science
Email: ukiwahi@langdonpark.org


	



		Name:
	________________________

	Class:
	________________________

	Date:
	________________________








	 

	
Time:
	75 minutes

	Marks:
	70 marks
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Q1.
Momentum is a vector quantity.
(a)     How is a vector quantity different to a scalar quantity?
___________________________________________________________________
___________________________________________________________________
(1)
(b)     Name another vector quantity.
___________________________________________________________________
(1)
(c)     Give the definition of momentum.
___________________________________________________________________
___________________________________________________________________
(1)
(d)     What is the unit of momentum?
___________________________________________________________________
(1)
(e)     The image shows a golf club about to hit a stationary golf ball.
[image: ]
The golf club is in contact with the golf ball for 1.8 ms and exerts a force of 1500 N on the golf ball.
The mass of the golf ball is 0.045kg
Calculate the velocity of the golf ball as it leaves the golf club.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
Velocity = ____________________ m/s
(4)
(f)      When hitting the golf ball the golfer swings the golf club to keep it in contact with the golf ball for as long as possible.
The force acting on the golf ball is constant during this time.
Explain the effect that the time of contact between the golf club and the golf ball has on the distance the golf ball travels.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
(4)
(Total 12 marks)
Q2.
Quantities in physics are either scalars or vectors.
(a)     Use the correct answers from the box to complete the sentence.
 
	acceleration
	direction
	distance
	speed
	time


Velocity is __________________________ in a given ________________ .
(2)
(b)     Complete the table to show which quantities are scalars and which quantities are vectors.
Put one tick ([image: ]) in each row.
The first row has been completed for you.
 
	Quantity
	Scalar
	Vector

	Momentum
	
	[image: ]

	Acceleration
	
	

	Distance
	
	

	Force
	
	

	Time
	
	


(3)
(c)     The diagram shows two supermarket trolleys moving in the same direction.
Trolley A is full of shopping, has a total mass of 8 kg and is moving at a velocity of 2 m / s with a kinetic energy of 16 J.
Trolley B is empty, has a mass of 4 kg and is moving at a velocity of 0.5 m / s with a kinetic energy of 0.5 J.
[image: ] 
(i)      Calculate the momentum of both trolley A and trolley B.
Give the unit.
______________________________________________________________
______________________________________________________________
Momentum of trolley A = _______________
Momentum of trolley B = _______________
Unit __________
(4)
(ii)     The trolleys in the diagram collide and join together. They move off together.
Calculate the velocity with which they move off together.
______________________________________________________________
______________________________________________________________
______________________________________________________________
______________________________________________________________
Velocity = _______________ m / s
(3)
(iii)     In a different situation, the trolleys in the digram move at the same speeds as before but now move towards each other.
Calculate the total momentum and the total kinetic energy of the two trolleys before they collide.
______________________________________________________________
______________________________________________________________
Total momentum = _________________
______________________________________________________________
______________________________________________________________
Total kinetic energy = _______________ J
(2)
(Total 14 marks)
Q3.
(a)     Figure 1 shows an aircraft flying at a constant velocity and at a constant height above the ground.
Figure 1
[image: ]
Complete the free body diagram in Figure 2 to show the other two forces acting on the aircraft.
Figure 2
[image: ]
(2)
(b)     A small aircraft accelerated down a runway at 4.0 m/s2
The aircraft started from rest and reached a speed of 34 m/s just before take-off.
Calculate the distance the aircraft travelled while accelerating.
Give your answer to 2 significant figures.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
Distance = ____________________ m
(4)
(c)     Figure 3 shows the small aircraft being used to tow a glider.
Figure 3
[image: ]
The tension force in the cable can be resolved into a horizontal component and a vertical component.
The tension in the cable is 2000 N
The cable makes an angle of 20° with the horizontal.
Draw a vector diagram to determine the magnitude of the two components of the tension force in the cable.
Magnitude of the horizontal component = ____________________ N
Magnitude of the vertical component = ____________________ N
(1)
(Total 10 marks)
Q4.
The graph shows how the distance travelled by a car changes with time during a short journey.
[image: ] 
(i)      Describe fully the motion of the car during the first two minutes of the journey.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
(3)
(ii)      During the last minute of the journey the velocity of the car changes although the speed remains constant. How is this possible?
___________________________________________________________________
___________________________________________________________________
(1)
(Total 4 marks)
 
 
Q5.
This question is about a car travelling through a town.
(a)     The graph shows how far the car travelled and how long it took.
[image: ] 
(i)      Between which points was the car travelling fastest? Tick ([image: ] ) your answer.
 
	Points
	Tick ([image: ] )

	A – B
	 

	B – C
	 

	C – D
	 

	D – E
	 

	E – F
	 


(1)
(ii)     Between which points was the car stationary?
______________________________________________________________
______________________________________________________________
(1)
(b)     Complete the sentences by writing the correct words in the spaces.
When a car has to stop, the overall stopping distance is greater if:
•        the car is poorly maintained;
•        there are adverse weather conditions;
•        the car is travelling ________________ ;
•        the driver’s reactions are ________________ .
          Also, the greater the speed of the car, then the greater the braking _____________
          needed to stop in a certain time.
(3)
(Total 5 marks)
Q6.
A child goes out to visit a friend.
The graph shows the child’s journey.
[image: ] 
(a)     Calculate the child’s average speed for the whole journey.
[Show your working and give the units in your answer.]
___________________________________________________________________
___________________________________________________________________
(3)
(b)     How many times faster is the child travelling in the first part of the journey than in the final part of the journey?
[You should show how you obtained your answer.]
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
(2)
(Total 5 marks)
Q7.
A cyclist goes on a long ride. The graph shows how the distance travelled changes with time during the ride.
[image: ] 
(i)      Between which two points on the graph was the cyclist moving at the fastest speed?
___________________________________________________________________
(1)
(ii)      State one way cyclists can reduce the air resistance acting on them.
___________________________________________________________________
___________________________________________________________________
(1)
(iii)     How long did the cyclist stop and rest?
___________________________________________________________________
(1)
(iv)     Write down the equation which links distance, speed and time.
___________________________________________________________________
(1)
(v)     Calculate, in km/hr, the average speed of the cyclist while moving.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
Average speed = _______________ km/hr
(3)
(Total 7 marks)
Q8.
The graph shows changes in the velocity of a racing car.
[image: ] 
(a)     Describe the motion of the racing car during:
(i)      the period labelled W; ____________________________________________
______________________________________________________________
(1)
(ii)     the period labelled Y. ____________________________________________
______________________________________________________________
(1)
(b)     Calculate the acceleration of the racing car during the period labelled X.
Show clearly how you work out your answer and give the unit.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
Acceleration = _______________________
(4)
(Total 6 marks)

Mark schemes
Q1.
(a)     a vector has direction (a scalar does not)
1
(b)     accept any vector quantities eg
•        velocity
•        force
•        weight
•        acceleration
•        displacement
1
(c)     mass × velocity
do not accept speed for velocity
do not accept symbols
1
(d)     kilogram(s) metre per second
allow kg m/s
1
(e)     1.8 ms = 0.0018 s
an answer of 60 (m/s) scores 4 marks
1
[image: ] 
1
[image: ] 
1
v = 60 (m/s)
an answer of 60 000 scores 3 marks
1
(g)     longer the time of contact the greater the change of momentum
allow the converse
1
since the mass of the golf ball is constant
1
the velocity of the golf ball must increase
1
increasing the distance the golf ball travels
1
[12]
Q2.
(a)     speed
must be in correct order
1
direction
1
(b)
	Quantity
	Scalar
	Vector

	Momentum
	 
	[image: ]

	Acceleration
	 
	[image: ]

	Distance
	[image: ]
	 

	Force
	 
	[image: ]

	Time
	[image: ]
	 


any three correct scores 2 marks
any two correct scores 1 mark
only one correct scores zero
3
(c)     (i)      16 and 2
16 or 2 scores 2 marks
allow 1 mark for correct substitution, ie
8 × 2
or
4 × 0.5
3
kg m / s or N s
1
(ii)     1.5 (m / s)
or
their pA + pB = 12 × v correctly calculated
allow 2 marks for correct substitution, ie
18 = 12 × v
or
their pA + pB = 12 × v
18 or their pA + pB scores 1 mark if no other mark awarded
3
(iii)    14 (kg m / s)
or
their pA - pB
1
16.5 (J)
1
[14]
Q3.
(a)     arrow vertically down – same size as lift – labelled weight
judge by eye
1
arrow to the left – same size as drag - labelled thrust
judge by eye
two correct arrows without labels gains 1 mark
1
(b)     342 – (02) = 2 × 4.0 × s
1
[image: ] 
1
s = 144.5
1
s = 140 (2 sig figs)
an answer of 140 scores 4 marks
an answer of 144.5 scores 3 marks
1
(c)     tension force drawn to a suitable scale and in correct direction
1
triangle completed showing correct components
1
scale used to determine both component forces
1
horizontal component = 1900 N
vertical component = 680 N
allow 1850 to 1925 inclusive
allow 660 to 700 inclusive
1
[10]
Q4.
(i)      first statement must be accelerated
if it just accelerated then decelerates award 2 marks
1
          final statement must be stationary
1
          interim statement decelerates
1
(ii)      direction is changing
1
[4]
Q5.
(a)     (i)      E-F (ticked)
1
(ii)     B-C or D-E
accept both answers
1
(b)     fast(er)
accept downhill
1
          slow(er)
1
          force
do not accept distance
1
[5]
Q6.
(a)     evidence of
speed = [image: ] (travelled)   or   [image: ]   or   [image: ]
gains 1 mark
but or any correct calculation of gradient
(except when zero) gains 2 marks
          [image: ]   or   2
gains 1 mark
          units   metres per second or m/s or ms-1
 (not mps)
for 1 mark
3
(b)     evidence of calculating the two speeds
([image: ] and [image: ] or     5   and   2)             (evidence of this may be in (a))
or
noting distances travelled in same time (20 secs) i.e. 100m and 40m but 2.5
gains 2 marks
2
[5]
Q7.
(i)      C and D or D and C
accept CD
accept DC
accept answers in terms of time
1
(ii)      any one from:
          streamline position streamline clothes
accept crouched position
accept tight clothes
accept design of cycle
accept cycle slower
1
(iii)     0.5 hours or 30 minutes or 1800 seconds
must have unit
1
(iv)     speed = [image: ]
 
accept any correct rearrangement
accept s = d/t or  v  s/t
accept velocity for speed
accept [image: ] 
if subsequent use of [image: ] correct
1
(v)     16
allow for mark for each of time = 3.5 hours
distance = 56km
allow e.c.f. from part (a)(iii) if correctly used
an answer of 14 gains 2 marks
allow 1 mark for correct attempt to average the three sections
3
[7]
Q8.
(a)     (i)      acceleration / speeding up 
do not accept acceleration increases
1
(ii)     constant / steady velocity
accept constant / steady speed
1
(b)     10
3
m/s2 or ms־2
reject ms2
if answer not correct then allow 1 mark for
acceleration = [image: ]
 
and allow 1 mark for [image: ]
1
[6]
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Our Learning Intentions

We are learning about how to

Describe scalar quantities and vector quantities. 

Interpret and analyse the displacement of an object in terms of its magnitude and direction. 



Key terms/Phrases

Analyse

Interpret

Quantities in physics

Units

Magnitude

Direction

Distance

Displacement

Scalar quantities

Vector quantities



Forces [Part 1] 

Scalar and Vector Quantities 















Interpret – explain, clarify -present in understandable terms.

Analyse -  to break down into components or essential features.

 





















What is the unit for speed? 

What is the difference between distance and displacement?













What is the unit for speed? 

What is the difference between distance and displacement?













What is the unit for speed? 

What is the difference between distance and displacement?



The only difference between velocity and speed is that velocity has a direction. 



Displacement is the distance moved in a straight line, or a given direction from the starting point.













There are three types of adaptation that an organism may show to aid its survival. What are the three types?







Let’s Recap The Last 10 Minutes of This Lesson  



What’s the key piece of information I remember from the first part of this topic?



Write down the units of speed, distance and displacement.

Recall the meaning keywords  used in two sentences

Explain or recall two key words and definitions used in the first three slides of this lesson.  





Title: Vector and Scalar

Match the quantity to it’s unit













DO NOW

Distance

Mass

Weight

Energy

Speed

Time

Density



Joules (J)

Seconds (s)

Kilograms (kg)

Kilogram per metres3 (kg/m3)

Newton’s (N)

Metres (m)

Metres per second (m/s)











Mass 		Momentum          Energy 

	           Velocity

     Volume 			Temperature

            Displacement

Speed					

             Acceleration              Distance







Scalar 

Has a magnitude (size)



Mass

Energy

Volume 

Temperature

Speed

Distance







Vector 

Has a magnitude and a direction 



Velocity

Displacement

Weight

Momentum

Acceleration 









Important vector and scalar examples

Weight and mass

Mass is a property of objects and has no set direction (scalar).

When a mass is in a gravitational field it produces a force called weight. Weight has a direction usually towards the centre of a planet or star (vector).



So 			       mass = scalar

		Weight (a force) = vector



(Top tip: all forces are vectors!)









Important vector and scalar examples

Speed and velocity

Speed is how fast an object is going. It doesn’t matter in what direction.

Velocity is speed and direction. It can be represented by an arrow.



So 			       speed = scalar

			     velocity= vector







Important vector and scalar examples

Distance and displacement

Distance is the total an object is travelled, even if it ends up back at its starting location. It doesn’t matter what direction on object travels in, if it is moving the distance travelled will increase. (scalar).



Displacement is different. It tells us how far from the starting point an object has moved. If you go to the shops and come back to where you started you will have travelled a distance, but your displacement from the start to the end of your journey will be zero.



This means it has to have direction.





So 		         distance = scalar

		displacement = vector









Distance

Start here











End here







Start here











End here

Total distance =  the 2 added together







Vectors are drawn as arrows.

When showing a journey we put them tip to tail. 







Start here











End here

Distance from starting point= Displacement







Vectors are drawn as arrows.

When showing a journey we put them tip to tail. 





You ask to go to the toilet during lesson…..

What is the longest route you can take to get back to lesson?

You can only go in straight lines.

Measure your line in mm

Count up your steps
1mm = 1 step
My Total Distance =

what’s you displacement?

















Displacement

Because I end up where I started my displacement is zero.









Distance and displacement

Displacement- the distance moved by an object in a particular direction, from where you start



Because direction is important, we can give displacement either a positive or a negative value.



This simply means what direction are were travelling in?













The red bird travels 120m East, it then travels 40m West.

What is it’s distance?

What is it’s displacement?













+ 120m

- 40m

Step 1: Decide which direction is positive (East)

Step 2: Draw a diagram (above)

Step 3: Add the two distance together (with the + and -)

-

+

The red bird travels 120m East, it then travels 40m West

a) What is it’s distance?

b) What is it’s displacement?

Answer= 120 + - 40 = 80 m East

MUST HAVE DIRECTON













1) A pig travels 88m North, it then travels 20m south. What is it’s distance and displacement?

3) A green bird travels 300m South, 100m North,  then 20m south. What is it’s distance and displacement?

2) A yellow bird travels 150m West and then bounces 40m East. What is it’s distance and displacement?





Drawing vectors 

A walker travels 25km from a starting point but does not walk in one straight line to get there. He follows this route.



10km north and 15 km west



We want to know his displacement. How could we calculate this? 







But what about this…..

10km north and 15 km west

We want to know his displacement. How could we calculate this? 

Remember the direction





Scale Drawing - Rules

Set a scale

1 cm = 1m

1 cm = 2m etc



Draw out the lines to match the scale.

Make sure your arrows point the correct way



Measure the distance from start to end using a ruler.



Measure angle with protractor



The End



10km north and 15 km west

1cm = 1m





Now try these using scale drawings

10m north, 20m west.

140m West, 100m South

2.5km East, 4km North

2km North, 3 km West, then 1 km North again.



Remember- put arrows on your diagrams to show direction







Ok…..but what about if we don’t want to draw it?

Then we use maths (woooo)





But what about this…..

Remember the direction







Using Your Maths Skills In Science

We want to know his displacement. How could we calculate this? 

10km north and 15 km west

10km

15km

To work out the displacement use Pythagoras.

a2 + b2 = c2 

102 + 152 = 325

c = 18.02km 







Using Maths Skills In Science

Displacement also needs a direction, in this case an angle

10km north and 15 km west

10km

15km

To work out the direction use trigonometry.



Sinθ = opp/hyp

Cos θ= adj/hyp

Tan θ = opp/adj



SOHCAHTOA



18.02km 



sin θ	= 15/ 18.02

	= 0.832

Θ = 33.70









Now try these again- how close was your scale drawing answer?

10m north, 20m west.

140m West, 100m South

2.5km East, 4km North

2km North, 3 km West, then 1 km North again.



Remember- put arrows on your diagrams to show direction





Task 4





2. Give three examples of a vector and scalar quantity
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1 a State what is meant by the magnitude of a vector quantity.

[1 mark]
b State the difference between a scalar quantity and a vector
quantity. 1 mark]

2 Look at the journey shown on the map in Figure 1. If the
displacement arrow represents a displacement of 10km, use the
map to estimate the approximate distance travelled by the student
on their journey to school. [1 mark]

3 Asmall object is acted on by a horizontal force, A, of magnitude
15N, and another horizontal force, B, of magnitude 12N, which
acts in the opposite direction to A. Draw a to-scale vector diagram
showing forces A and B acting on the object. [2 marks]

4 Aforce A of 48N acts on a small object as shown in Figure 4.

A=48N
—_

1line of action
iof force B

Figure 4

a Copy Figure 4 and state the scale you have used on your
diagram. [1 mark]
b Add a further arrow to your diagram to represent a force B
of 36N acting on the object in a direction at right angles
to the direction of the 48 N force. [1 mark]
—————————————————————————————————
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Our Learning Intentions

We are learning about how to

Describe scalar quantities and vector quantities. 

Interpret and analyse the displacement of an object in terms of its magnitude and direction. 



Key terms/Phrases

Analyse

Interpret

Quantities in physics

Units

Magnitude

Direction

Distance

Displacement

Scalar quantities

Vector quantities



Forces [Part 1] 

Scalar and Vector Quantities 















Interpret – explain, clarify -present in understandable terms.

Analyse -  to break down into components or essential features.

 





















What is the unit for speed? 

What is the difference between distance and displacement?













What is the unit for speed? 

What is the difference between distance and displacement?













What is the unit for speed? 

What is the difference between distance and displacement?



The only difference between velocity and speed is that velocity has a direction. 



Displacement is the distance moved in a straight line, or a given direction from the starting point.













There are three types of adaptation that an organism may show to aid its survival. What are the three types?







Let’s Recap The Last 10 Minutes of This Lesson  



What’s the key piece of information I remember from the first part of this topic?



Write down the units of speed, distance and displacement.

Recall the meaning keywords  used in two sentences

Explain or recall two key words and definitions used in the first three slides of this lesson.  





Title: Vector and Scalar

Match the quantity to it’s unit













DO NOW

Distance

Mass

Weight

Energy

Speed

Time

Density



Joules (J)

Seconds (s)

Kilograms (kg)

Kilogram per metres3 (kg/m3)

Newton’s (N)

Metres (m)

Metres per second (m/s)











Mass 		Momentum          Energy 

	           Velocity

     Volume 			Temperature

            Displacement

Speed					

             Acceleration              Distance







Scalar 

Has a magnitude (size)



Mass

Energy

Volume 

Temperature

Speed

Distance







Vector 

Has a magnitude and a direction 



Velocity

Displacement

Weight

Momentum

Acceleration 









Important vector and scalar examples

Weight and mass

Mass is a property of objects and has no set direction (scalar).

When a mass is in a gravitational field it produces a force called weight. Weight has a direction usually towards the centre of a planet or star (vector).



So 			       mass = scalar

		Weight (a force) = vector



(Top tip: all forces are vectors!)









Important vector and scalar examples

Speed and velocity

Speed is how fast an object is going. It doesn’t matter in what direction.

Velocity is speed and direction. It can be represented by an arrow.



So 			       speed = scalar

			     velocity= vector







Important vector and scalar examples

Distance and displacement

Distance is the total an object is travelled, even if it ends up back at its starting location. It doesn’t matter what direction on object travels in, if it is moving the distance travelled will increase. (scalar).



Displacement is different. It tells us how far from the starting point an object has moved. If you go to the shops and come back to where you started you will have travelled a distance, but your displacement from the start to the end of your journey will be zero.



This means it has to have direction.





So 		         distance = scalar

		displacement = vector









Distance

Start here











End here







Start here











End here

Total distance =  the 2 added together







Vectors are drawn as arrows.

When showing a journey we put them tip to tail. 







Start here











End here

Distance from starting point= Displacement







Vectors are drawn as arrows.

When showing a journey we put them tip to tail. 





You ask to go to the toilet during lesson…..

What is the longest route you can take to get back to lesson?

You can only go in straight lines.

Measure your line in mm

Count up your steps
1mm = 1 step
My Total Distance =

what’s you displacement?

















Displacement

Because I end up where I started my displacement is zero.









Distance and displacement

Displacement- the distance moved by an object in a particular direction, from where you start



Because direction is important, we can give displacement either a positive or a negative value.



This simply means what direction are were travelling in?













The red bird travels 120m East, it then travels 40m West.

What is it’s distance?

What is it’s displacement?













+ 120m

- 40m

Step 1: Decide which direction is positive (East)

Step 2: Draw a diagram (above)

Step 3: Add the two distance together (with the + and -)

-

+

The red bird travels 120m East, it then travels 40m West

a) What is it’s distance?

b) What is it’s displacement?

Answer= 120 + - 40 = 80 m East

MUST HAVE DIRECTON













1) A pig travels 88m North, it then travels 20m south. What is it’s distance and displacement?

3) A green bird travels 300m South, 100m North,  then 20m south. What is it’s distance and displacement?

2) A yellow bird travels 150m West and then bounces 40m East. What is it’s distance and displacement?





Drawing vectors 

A walker travels 25km from a starting point but does not walk in one straight line to get there. He follows this route.



10km north and 15 km west



We want to know his displacement. How could we calculate this? 







But what about this…..

10km north and 15 km west

We want to know his displacement. How could we calculate this? 

Remember the direction





Scale Drawing - Rules

Set a scale

1 cm = 1m

1 cm = 2m etc



Draw out the lines to match the scale.

Make sure your arrows point the correct way



Measure the distance from start to end using a ruler.



Measure angle with protractor



The End



10km north and 15 km west

1cm = 1m





Now try these using scale drawings

10m north, 20m west.

140m West, 100m South

2.5km East, 4km North

2km North, 3 km West, then 1 km North again.



Remember- put arrows on your diagrams to show direction







Ok…..but what about if we don’t want to draw it?

Then we use maths (woooo)





But what about this…..

Remember the direction







Using Your Maths Skills In Science

We want to know his displacement. How could we calculate this? 

10km north and 15 km west

10km

15km

To work out the displacement use Pythagoras.

a2 + b2 = c2 

102 + 152 = 325

c = 18.02km 







Using Maths Skills In Science

Displacement also needs a direction, in this case an angle

10km north and 15 km west

10km

15km

To work out the direction use trigonometry.



Sinθ = opp/hyp

Cos θ= adj/hyp

Tan θ = opp/adj



SOHCAHTOA



18.02km 



sin θ	= 15/ 18.02

	= 0.832

Θ = 33.70









Now try these again- how close was your scale drawing answer?

10m north, 20m west.

140m West, 100m South

2.5km East, 4km North

2km North, 3 km West, then 1 km North again.



Remember- put arrows on your diagrams to show direction





Task 4





2. Give three examples of a vector and scalar quantity







image1.png







image2.png







image3.png

( TAKEAWAY J







image4.png







image5.png







image6.png







image7.png







image8.png







image9.png







image10.jpeg







image11.png







image12.png







image13.tmp

Great Sankey High School Site ASTRO TURF IR
Plan 2016-2017 v
511 i ) Y Y NETBALL A R0
H T
vl e - COURTS RAC
e [ Meos[eos sancs
L u CENTRE
wmorf| [ S
M2| | M8
wi|[ws] |2 SOCIAL AREA
Hio| W3] - =6 = |
T [
| AH Ul [
3 stz | g | SPORTS ]
al HALL swiMmING
:Z [ s9 T2 fl|ree
i
e | |t sto]_Td (&
Hs || H2 S| T[T
Ha | [ H3 s12 T5
$13 | o [T,
oo ——T
v | ) [T15| 77 (][ cs
= - T13 M2 T8 | C4 | /)
R sl ROTE] (|
T | e 4 pe il ngTm R
Gl [ c3lc2
o] [P =]
e il stuoo -
—







image14.jpeg







image15.gif







image16.png







image17.png

1 a State what is meant by the magnitude of a vector quantity.

[1 mark]
b State the difference between a scalar quantity and a vector
quantity. 1 mark]

2 Look at the journey shown on the map in Figure 1. If the
displacement arrow represents a displacement of 10km, use the
map to estimate the approximate distance travelled by the student
on their journey to school. [1 mark]

3 Asmall object is acted on by a horizontal force, A, of magnitude
15N, and another horizontal force, B, of magnitude 12N, which
acts in the opposite direction to A. Draw a to-scale vector diagram
showing forces A and B acting on the object. [2 marks]

4 Aforce A of 48N acts on a small object as shown in Figure 4.

A=48N
—_

1line of action
iof force B

Figure 4

a Copy Figure 4 and state the scale you have used on your
diagram. [1 mark]
b Add a further arrow to your diagram to represent a force B
of 36N acting on the object in a direction at right angles
to the direction of the 48 N force. [1 mark]
—————————————————————————————————








Forces [Part 1]
Scalar and Vector Quantities
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